Math 120 Name

Review Sheet: Inequalities Date

Draw a graph for each inequality.

1) -v<-3 2) x>4

-7 -6 -5-4-3-2-101 2 3 45 6 7 -7 -6 -5-4-3-2-101 2 3 45 6 7
3)y m>-6 4) k>-3

-7 -6 -5-4-3-2-101 2 3 4 5 6 7 -7-6-5-4-3-2-1012 3 456 7
5) x>0

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

Write an inequality for each graph.

6) Gt} —— f———————> D TR o o e e e P . . .
)‘—7—6—5—4—3—2—10 1 2 3 4 5 6 7 )\—I7—I6—I5—4—3—2—10 1 2 3 4 5 6 7)
8) €—H—+—+—t+—————+—+——+—+O=i=P 9)

-7-6 -5-4-3-2-101 2 3 456 7 -7-6 -5-4-3-2-101 2 3 456 7

10) ot

-7-6-5-4-3-2-101 2 3 4 5 6 7

Solve each inequality and graph its solution.

11) —2x> 18 12) 13- p>2
) PR PR PR PO A e L LS S S S
14) 300 > 20
13) 2 <19 ) "
9 At ————+—+—+>
\—19 -18 -17 -16 -15 -14 -13 -12 -11 —10/
\—1I76 ' —1I74 ' —1I72 ' —1I70 ' —IIGS/
16) 14<x+17
15) 20 < — ) 14=x
12 H—t+—+—+—+—+—+>
S s o4 -3 o - 0o’

N
A\ 4

N
238 239 240 241 242



17) =18 <n +(=3) 18) —15+b>-34

ya N ya : N
N -19 -18 -17 -16 -15 -14 -13 7 N -23 =22 =21 -20 -19 -18 -17 7
19) 4<v-5 20) x—(-7)>4
/ : T T T T T T T \ / T T : : T : : T \
N 4 5 6 7 8 9 10 11 7 N -8 -7 -6 -5 —4 -3 -2 -1 7
n a
21) 0<—-1+— 22) -10<— -9
12 8
L e Y I 4 < ; + + —>
N 7 8 9 10 11 12 13 14 15 i \—10 -9 -8 -7 -6 -
k 4+
23) 3> 44— 24) 7> P
9 2
y4l : N ya N
N 7 8 9 10 11 12 13 14 7 \—12 -11 -10 -9 -8 =7 7
7+ x 26) 3+7m<-18
25) >2 )
- < ; ; ; —>
N 4 -3 2 M
13 o2 -1 -0 -9 -8~
27) —4n—1<-37 28) 2(-7+x)>-2
/ : T T T T T \ / T T T T T T T : : : : \
\6 7 8 9 10 11/ \1234567891011/
29) —69 <—1 —4r 30) 2(4+n)>-22
& t t t t t t — “~t—t——t+——t+—t+—t+—t+—+—+—++>
N 15 16 17 18 19 20 21 22 7 \—20 -19 -18 -17 -16 -15 -14 -13 -12 -11 —10/
31) [p-5] 21 32) |-2r| <10
2 1 1 1 AN
N T T T L) T T T T T T "7
1 2 3 4 5 6 7 8 9 10 11 -7 6 -5 4 -3 -2-10 1 2 3 4 5 6



33) |4x| <-12

&—1 1 1 1 1 1 1
S T T T T T T T T T T
-6 -5 -4 -3 -2 -1 0 1 2 3 4

<5

a
35) |—
X

-16 -12 -8 -4 0 4 8 12 16

37) 84 |—| 29
10
%l—l—l—l—l—l—l—l—l—l—l—l—l—l%
-12 -8 —4 0 4 8 12

39) —7+ |k-8| <10
&—~—+++t+++t+t+++t+t++—t+t++—+—>

-8 -4 0 4 8 12 16 20 24

41) 10|-4x-8| +2<-38

-5 4 -3 -2-101 2 3 4 5 6 7 8

43) 8 +4|-9-3n| <92

RSN A S AL S
45) 9|9m—9| +6> 87

N
A\ 4

49) =7(2+5n)+ 1257

&—1
< T T T T
-4 -3 -2 -1 0

A\ 4

34) |-3n| =21

&—1 1 1 1 1 1
S T T T T T
-5 -4 -3 -2 -1 0

36) —4|x+3] =20

40)

|9+x|
38) ——=>5
8

-50 -40 -30 -20 -10

|n+2|

<3

0

42) 2|-7p+9| +3>41

-4

-3

-2 -1 0

1 2 3 4 5 6 7 8 9

44) 8+5|6r—9| <23

10

20

30

0

46) —4(b +6) > -16

DR B
48) 8(-3x—2)>32
R I
50) 2(-4 +a)>-12

A\ 4



51) =2(1+7v)+7(8 + 3v) > 12 52) 12> —-5(4 — 6x) + 4(1 — 4x)

T A S S S S S I
53) =32 4(6x—6)—5(x-8) 54) 25>-3(n—1)-2(3-5n)

N T S R S T T S S B B S S i
55) 37<5(8 + k) — 6(3k—6) 56) 6-3p>-2+8(5p+1)
N I
57) (n+4)<3n-20 58) —17 +8x>5(7x +2)

yd :\ y4 N
\—1 0 1 2 3 4 5 6 7 8/ \—6 -5 -4 -3 -2 -1 0 1 2/
59) =2+ 5(m+2)<m+ 36 60) 7(1+r)<-33—r
L S & 4 5
61) —2n—-2(3n+2) > —4(1 +7n) 62) —2(1 —2b) > —-8b — 4(-2 - 3b)
L T S A R S PRI/ A B B B B 20
63) —v —6(—8v + 8) > —4v — (5 — 8v) 64) —4(x—6)>3x—(5x-6)

T
65) —4x+4(3 —5x) < —6(6x —8)

\—1 0 1 ; 3 4 5/

Solve each compound inequality and graph its solution.

66) -6<x+4<-3 67) Tn>63andn+9>4
D P P P S S T A f e St



68) v+10<lorv+5>3
D B e E e L e e e T B

-14 -12  -10 -8 -6 -4 -2 0

b
69) —=1lorb+1<6
10

1 2 3 4 5 6 7 8 9 10 11 12 13 14

70) 9x <27 and -2 + x> -11 71) 8 —9a <62 or 10a+6 <26
“——t+—t—t+—t+—t+t+—t+t++—t++++++> “tH—t—+—+—+—+—t+—+—+—+—+—+>

-10 -8 -6 —4 -2 0 2 4 \—4 -3 -2 -1 0 1 2 3 4 5 6 7 7
72) 4<6+2n<24 73) 6p—-5>-59o0or5Sp+1>-39

-3 -2-10 1 2 3 4 5 6 7 8 9 10 \—i3 —iZ —il —iO —:9 —:8 —:7 —:6 —:5/
74) Tk—3>2460r7 + 9% <-2 75) 5x—4>-9o0r7+6x<-53

-5 -4-3-2-101 2 3 45 6 7 8 910 -14 -12 -10 -8 -6 -4 -2 0 2 4
76) 4+3m>1+2mand6m—7>7Tm—"7 77) 6 —Tn=>—-6n+1land2-2n<-n+6
\—:6 —:5 —:4 —:3 —:2 —:1 (:) i, -6 -5-4-3-2-101 2 3 45 6 7 8
78) 8x+7<4x+7or5+3x<-8+2x 79) 9r+9<8r+2o0r5+10r>26r+5
&— t t t —> A

-2 -1 0 1 2 -10 -8 -6 —4 -2 0 2

80) 5Sn—10<10n+50rd4n—-7>5n+6

-16 -14 -12 -10 -8 -6 -4 -2 0



Answers to Review Sheet: Inequalities (ID: 1)
1) ¢ttt Ot 2)

-7-6-5-4-3-2-101 2 3 45 6 17 -7-6-5-4-3-2-101 2 3 45 6 17
3) € @it 4) €t @ ijijijejjeiied
-7-6-5-4-3-2-101 2 3 45 6 7 -7-6-5-4-3-2-101 2 3 45 6 7
5) €O milijj——_— 6) x<-1 7) x>—-4
-7-6-5-4-3-2-101 2 3 45 6 7
8) b>6 9) b>3 10) x<1

-9 ; e O —————> Gt O ————>
11) x<-9 =m0+ 12) p<11:

6 7 8 9 10 11 12 13 14

13) m< =171 : Gt O————> 14) n>-15: e|—|—|—|—o-|—|—|—|—|—)

-176 -174 -172 -170 -168 - -16 —14 —12 -10

15) r>240: ¢4+— . 16) x>-3: — -
238 239 240 241 242 —6 -5 —4 -3 —2 —1 0
17) n>-15: €é4+——— o g 18) b>-19: —
-19 -18 -17 -16 -15 -14 -13 —23 —22 —21 -20 -19 -18 -17
19 v29: == 20) x> =3 : SHAAAAOHD
21) n> 12 : €+——t—t—Omimmimimy 22) a=>-8: €+ —— @} =
7 8 9 10 11 12 13 14 15 -10 -9 -8 -7 -6
23) k<9 ‘ 9 10 11 12 13 14 24) p< 10 ‘ 12 —11 —?0 —9 —IS —I7/
25) x<-11: ( —0 —> 26) m<-3: ( - O - =>

—13 —12 -11 —10 —9 -8

27y n>9: € —t— — 28) x>6: H—l—l—l—l—o-l—l—l—l—l—)

7 8 9 10 11 12345678 91011
29) r<17 : €= ——+—> 30) n>-15:
15 16 17 18 19 20 21 22 -20 -18 -16 -14 -12 -10
31) b>6orb<4: ( e —— .
2 3 4 5 6 7 8 9 10 11
32) -5<r<5: e|—|—0:::::::::
-7-6-5-4-3-2-101 2 3 45 6
33) No solution. : ¢4+—+—F+——+—+—+—+—+—+—+—>
—6 —5 —4 —3 —2 —1 O 1 2 3 4
34) { All real numbers. } : (_5 BRI . e e é)
35) =15 <a <15 ¢ @it ——
-15 —10 -5 0 5 10 15
36) 8<x<2: e|—|—0:::::::::.—|—|9

37) v210orvs-— 10 (—|-0—|—|—|—|—|—|—|—|—|—0-|—|—)
38) x>31orx<-49: (—. —

-50 —40 —30 —20 —10 O 10 20 30
39) —9£k$25:H . —————_—
-5 0 5 10 15 20 25

40) -14<n<10: € '::::::::::::)

-16 -12 -8 —4 0 4 8 12
41) No solution. :

-5 4-3-2-101 2 3 45 6 7 8

10
42) p<_70rp>4 ettt OOl

-4 -3-2-101 2 3 456 7 89

43) -10<n<4: < S . —>
-12-10 8 -6 4 2 0 2 4 6
44) 1<r<2: t t o—9 >
-1 0 1 2 3
45)m>20rm<0 €= b : ———

-2 2 3 4 5

46) b<-2: (—|—|—|—.—|—|—|—|—|9 47) v <=3 ; Gttt —————>

-5 -4-3-2-101 2 3 -7 -6 -5 4-3-2-10 1

48) x <=2 : Gt @——————> 49) n<-2: ( =0t —>
-6 -4 -2 0 2 -3 -2 -1 0

50) a>_2. 4 —I3 —.2 —.1 0 1) 51) V>—6 —10 —I9 —8 —7 -6 —5 —4)

52)x<2< ; :::"> 53)x<1( e @——————>

T T
-2 -1 0 1

2
54)n<4(—|—|—|—|—o—|—|—|—|9 55)k<3( i.: —>

01 2 3 4 5 6 7 8

56) p<O0: (—I—I—I—O—i—l—l—l9 57) n>4: e|—|—|—|—|—o-|—|—|—|—)

-3 -2 -1 0 -10 1 2 3 45 6 7 8
58) x<-1: (-l—l—l—l—l-o—l—l—H 59) m<7: ( : —t—t>
-6 -5-4-3-2-101 2 6 7 8 9 10
60) r<-5: ( + —> 61) n>0:
-6 -5 —4 -3 -5 -4-3-2-101 2 3
62) No soluuon ———t+—++> 63) v>1: ¢+—— —_——
-2 0 2 4 6 8 10 -2 -1 0 1 2 3 4



64) x<9: (—|—|—|—|—|—Q—|—|—|—|9

56 7 8 910111213

66) —10<x<—7 —@ e ———+

—12 —11 —10 —9 -8 -7 -6 =5

67) n>9: —t . ')

65) X< 3 Cit——————+—>
-1 0 1 2 3 4 5

68) v< 9orv>—2 (—|-|-|-|-|-o—|—|—|—|—|—|—o-|-|-|-)

-14 -12 -10

69) b=210o0orb<5:

1 2 3 4 5 6 7 8 9 1011 12 13 14

70) 9<x<3: e|—|—.::::_:4:_:2:(:):; >
71) { All real numbers. } : ( BT S e ;)
72) -1<n<9: ::::::::: =  73) p>-9: e
—3 —2 -10 1 2 3 4 5 6 7 8 910 13 —12 —11 —10 -9 8 -7 -6 -5
74) k>2Tork<-1:
—2 0 2 4 6 8 10
75) r>- 10rx< 10 ‘—14 12 -10 —8 —6 —4 —2 0 2 4’
76) -3<m<0: —t — >
-5 4 -3 -2 -1 0 1
77) -4<n<5: e|—|—0::::::::.—|—|—|9 78) x<0: €= ‘ ® t —>
-6-5-4-3-2-101 2 3 45 6 7 8 -2 -1 0 1 2
79) r<—T7orr=0:
-10 -8 -6 —4 -2 0 2

80) n>-3orn<-13: €

v v t t t t t v
-16 14 -12 -10 -8 -6 -4 -2

->

0



